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Instructions for the candidates:

l.

Riemefi OMR SR U® WR AYAT U4 YRS HAG (10 3D BI) 3Gy
fored |

Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the
OMR Answer Sheet.

. it JUATHYT U Yeal H B SR o |

Candidates are required to give their answers in their own words as far as
practicable.

. SIfE &R BRI W 34 g ofe guife fAfdse avd 2|

Figures in the right hand margin indicate full marks.

Yol BT &9 Ydd Ugd & forg 15 e &1 ifalRe w1 faar ar 2

An extra time of 15 minutes has been allotted for the candidates to read the
questions carefully.

. I8 I gRAHT &I @uel H fawiford 8 - @oe—3l U9 Wvs—d

This question booklet is divided into two sections- Section-A and Section-B
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6. WUS—31 § 100 TGS U &, fT9H A Badt 50 YT BT IR <A1 AR
2| T ¥ IAE Ul B IR S W UAH 50 ITRI B & Hodidd b
ST | 9P 9% & ol 1 i FIiRd 21 981 SR & S BRI T
OMR SR U336 # o T T fAdcd &I el /Bl dfcd U9 A TS BN |
ol M TR & [REER,/RA USRI /@S /ARIT M & OMR
SIR—YRDT H TN PRAT AT 8, 3=yl et GRS 8T |

In Section-A, there are 100 objective type questions, out of which any 50
questions are to be answered. First 50 answers will be evaluated in case more
than 50 questions are answered. Each question carries 1 mark. For answering
these darken the circle with blue/black ball pen against the correct option on
OMR Answer Sheet provided to you. Do not use whitener/liquid/blade/nail
etc. on OMR-sheet otherwise the result will be treated invalid.

7. Wue—q H, 30 Y IINIY U &, S H A 6=l 15 Il &1 IR <1 Afrard
2 IS U & forv 2 3fa fAuiRa €1 s9o ifaRaa, 39 wvs # 8 <
SR 7eF oy W 8, R 9 {5l 4 9991 & SR <971 8| ISP W B
forw 5 afp feiRa 2 |

In SECTION-B, there are 30 short answer type questions, out of which any 15
questions are to be answered. Each question carries 2 marks. Apart from these,

there are 8 long answer type questions, out of which any 4 questions are to be
answered. Each question carries 5 marks.

8. fofl UBR & Solagid USRI & YANT goiaar afeid ¢ |

Use of any electronic appliances is strictly prohibited.
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¥us — 3/ SECTION-A
JEIfS Ue / Objective Type Questions

U9 G&IT 1 W 100 db & U & A1 IR by 3 v & 98 9 v I
2| f&gl 50 Ul & BT IR AU §RT g1 7Y Al [ddeq & OMR  ¥fic W
fafesa & | 50x1=050

Questions Nos. 1 to 100 have four options, out of which only one is correct.
Answer any 50 questions. You have to mark your selected option on the OMR-

Sheet. 50x1 =50
1. Fr=faRaa 5 o aRAa Fw=T &7
(A) VT7+7 (B) V25++3
1
© = (D) V9x+3
Which of the following is a rational number?
(A) 7 ++7 (B) V25++3
1
© = D) VIxV3
2. AT m T YOI & A IAD 999 QUi & w9 BT o—
(A) m+1 B) m
(©) 2m (D) 2m+1
If m is an integer then the form of every odd integer is —
(A) m+1 B) m
(C©) 2m (D) 2m+1
3. ffeRaa @ foae geMed IR AT 87
11 15
(A o B
17 7
© 5 D =
Which of the following has terminating decimal expansion?
11 15
(A) 5 B) =
17 7
© = ()
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4. 0.87 =

87 87

(A) 5 B) 5
© 5 D) o
5.9fC 540 =2* x3Y x5Z@ A x+y—z =
A) 4 B) 5
) 3 (D) 6
If540 = 2* x3Y X 5% thenx +y —z =
A) 4 B) 5
© 3 (D) 6
6. Fr=feiRad H @9 srulR¥y | 272
(A) 2.3 B) VI3x V13
(C) 441 ) [
Which of the following is an irrational number?
A) 2.3 (B) V13 x+13
© o =

100

7. i m AR n & JATSY [N & 1 SIDT Fe<H FHIARID BIIT—
(A) 0 (B) 1
C) 2 (D) 3
If m and n are two prime numbers then their highest common factor
will be —
(A) 0 (B) 1
) 2 (D) 3

8. TT RT3 BT YUHeT 2366 & AR IDhT AGdH FHAYIR 182 7, Al

TETH AATIARIS BT
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(A) 13 (B) 23
(C) 3 (D) 16
The product of two numbers is 2366 and their Lowest Common

Multiple is 182 then Highest Common Factor will be

(A) 13 (B) 23
<€ 3 (D) 16
9. fr=ferRad # fddr <eMed IR AT 27
11 17
A = B) &%
33 13
© D) =
Which of the following has non-terminating decimal expansion?
11 17
A o B) %
33 13
© D) —

200 441

10. & p = ab® T q = a*b, TTEI p, q IAHD YUlib TAT @, b JATY

de@m 2 dr (p,q) & AgaH FHIT 8-

(A) ab (B) ab3

(C) a*b3 (D) a*p*

If p = ab® and q = a*b, where p, q positive integer and a, b are prime

numbers then the Lowest Common Multiple of (p, q) is

(A) ab (B) a3b3

(C) a*p? (D) a*b*
11.F=forfed 9 9 SIM—a1 giq A8—3¥reg 27?

(A) (15,45) B) (9,16)

(C) (21,105) (D) (14,84)

Which of the following pair is Co-prime?

(A) (15,45) (B) (9,16)

(C) (21,105) (D) (14,84)
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12.0.31253%5?%@@%@@%%—

A) 2 B) =

© D) =

0.3125 can be written in the form of g as-

a) 2 B) —

© D) =
13.f=foRed 3 9 $I9—41 9gUs 7°

(A) x2+V2x+1 (B) x+§

(©) <x®—3x%++121 (D) 2x2 ++/4x

Which of the following is a polynomial?

(A) x2+V2x+1 (B) x+§

(C) §x3 —3x2 ++121 (D) 2x% ++4x
14,9898 (x + 3)%(x® — 8) &I I &—

(A) 2 B) 5

© o6 (D) 4

The degree of the polynomial (x + 3)2(x® — 8) is

(A) 2 B) 5

© o6 (D) 4
15. 980T 2x2 — 6 & AP o—

@A) (V3,-V3) ®) (V3,V3)

© (—V3,-V3) D) (3,-3)

The zeroes of the polynomial 2x2 — 6 are

@) (v3,-3) B) (V3 V3)

© (—V3,—V3) D) (3,-3)
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16. 9gU< p(x) = 2x% — 8x — 12, @ p(2) & A9 &—

(A) 20 (B) 20
(C) 36 (D) -28
The polynomial p(x) = 2x? — 8x — 12, then the value of p(2) is —
(A) 20 B) 20
(C) 36 (D) 28

17.9f¢ 9gUg 3y2 + 7y — K & YID UP N & Gbd 8, dl K &I 4
BT
(A)

VRIS
~
oy
~
I
|

€ 3 (D) -3
If zeroes of the polynomial 3y? + 7y — K are reciprocal to each other,

then the value of K will be—

(A) = B) -

<) 3 (D) -3
18.3[1% —2,—5 dlel 9gUal &1 G&AT 8-

A) 2 B) 3

<© 5 (D) 3R

The number of polynomial with zeroes —2, —5 will be—

(A) 2 B) 3

<) 5 (D) Infinite

19.3f¢ 989% p(x) =5x2+7x — 12, & YLIH a AR L &, @ 5(a + p)
BT A B—
(A) -7 B) 7
(C) 35 (D) 60
If @ and 8 are zeroes of the polynomial p(x) = 5x2 + 7x — 12, then the
value of 5(a + ) is —
A -7 (B) 7

Page 7 of 34



€ 35 (D) 60
20. 3 a, B,y Brend 98us ax® + bx?+cx+d & LIS B, A a-f-y
BT A BRI

A - ® -
(©) Z (D) —g

If a, B, y are zeroes of the Cubic polynomial ax® + bx? + cx + d, then

the valueof a - -y is

(A)

QI Qla
QU

©)
21.af¢ Y@ 5x + py = 6 IR 15x + 9y = 12 AR &, A p & A
BT

D) —=

(A) 3 (B) §
© 2 D) 9
If the lines 5x + py = 6 and 15x + 9y = 12 are parallel, then the value
of p will be
(A) 3 B) =
<€ 2 D) 9
22.9f¢ a1 =RI H |1 gD FHAIBRON & ATl gfcrzsdl Y@ &I, df gl o
AT grfl—
(A) ®Ig 8 &I (B) R &
(C) orT & (D) T 9 BIg Tl

If the graph of two linear equations in two variables is intersecting lines,
then the number of solutions will be

(A) no solution (B) only one

(C) infinite solution (D) none of these

23. ¢ 5x — 8y =0dAT10x — 18y = 0 A x ATy & A &—
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(A) x=5y=0 B) x=0,y=8

) x=0,y=0 D) x=1,y=1
If 5x — 8y = 0 and 10x — 18y = 0 then the values of x and y are—
(A) x=5y=0 B) x=0,y=8
) x=0,y=0 D) x=1y=1
24. AT BT ax? + bx + ¢ =0,a # 0, BT a1 AW &I, A c =
b? b?
(A —- B) -
b b
© = D) -
If the equation ax? + bx + ¢ = 0, a # 0, has equal roots, then ¢ =
b? b?
A — B) -
b b
© D) -
25. frfeiad | A 19 AT fgard dHieRer T8l 87
(A) (x+2)?2=3x%2-4) (B) 4x—x2=x%2+7
©) (\/fx _ 3)2 ) (D) (x—1)?=3x2-2x+4
Which of the following is not a quadratic equation?
(A) (x+2)?2=3kx%-4) (B) 4x—x2=x%2+7
(C) (\/zx _ 3)2 =2x2 4+ 4 (D) (x — 1)2 = 3x?% —2x + 4
26. I fgama FaRT x2 — 7x + 12 = 0 &1 b A 3 &I, Al 3ABI T
I BT
(A) -3 B) 4
< 4 D) 2

If one root of the quadratic equation x? — 7x + 12 = 0 is 3 then its other
root will be —
@A) 3 (B) 4
c© 4 D) 2
27. Ife fgard FHaRU x2 +px+q=0 D A pTAAT q 8, A p+q =
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A) 1 B) -1
< 2 (D) -2
If p and q are roots of the quadratic equation x2 + px + g = 0, then

ptq=
(A 1 B) -1
© 2 (D) -2
28. fgeama &R 3x2 — 13x + 10 = 0 &7 fAfdaqa~ 23—
(A) 49 (B) -49
€ 13 (D) 169
The discriminant of the quadratic equation 3x? — 13x + 10 = 0 is —
(A) 49 (B) -49
(C© 13 (D) 169
29.fgamd AR x(2x +5) = 0 & FAl BT oD o—
@A) 2 B) 0
© -2 D :
The product of the roots of the quadratic equation x(2x + 5) = 0 is
A) 2 B) 0
© -2 D :

30. fA=forRaa & d9—ar IHaR 9 § 27
(A)  0.2,022,0.222, 02222, ...

(B) V7,v28,V63,V112, ...

(C) 2,4,8,16, ...
13
(D) 195}59 29

Which of the following is an arithmetic progression?
(A) 0.2,0.22,0.222,0.2222, ...
(B) 7,428,4/63,V112,...
(C) 2,4,8,16,...
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13

(D) 1,552 ...
31. FHIAR #1Gl 12, 10, 8, .. BT DIF—HAT UG 0 27
(A) 7dt (B) sdt
(C) odf (D) 1odf
Which term of the arithmetic progression 12,10, 8, ... is 0?
(A) 7™ (B) 8"
(C) o9* (D) 10%"
32, FHIAR H¢T —5,—1,3,7,... BT AHATR o—
(A) 4 B) -4
<€ 3 D) -6
The Common difference of the arithmetic progression —5,—1,3,7, ... is —
(A) 4 (B 4
< 3 (D) -6

33.3fe IHIAR FE) BT UgST Ug 'a’ IR 3R 'd’ ®, 9 UAH n UGl BT
I BRTT—

(A) n{2a+(n—1)xd} (B) n(nz+1)

© Z{2a+(m-1)xd} D) :{a+®m—1)xd}
If the first term of an arithmetic progression is ‘a’ and Common

difference is 'd’ then the sum of first n terms of the arithmetic

progression will be

(A) n{2a+(n—-1)xd} (B) n(n+1)
2
© Z{2a+®m—-1)xd} D) :{a+(n—1)d}
349 FHIOR I BT n df UG t, =3 —4n @l tg =
A -17 (B) 17
© 20 (D) 20

If the nth term of an arithmetic progression, t, = 3 — 4n then t5 =
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(A) 17
(C) 20

(B)

(D)

17
-20

35.9f¢ AHIAR S BT AT U (17 — 5n) &, O 96T ATdeiar RT—

(A) 5
C) 12

(B)

(D)

-5
0

If the general term of an arithmetic progression is (17 — 5n) then its

Common difference will be—

13
15

secA = cosecB

tand = tanB

secA = cosecB

(A) 5 (B)
€ 12 (D)
36.92 N favH Whd A3 BT AMHA 5—
(A) n*-1 (B)
(C) 2n-1 (D)
The sum of first n odd natural numbers is
(A) n?-1 (B)
© 2n-1 (D)
37. 9fC 18, x,y,—-3 AR AT HEe A x+y =
A 7 (B)
€ 21 (D)
If 18, x, y, —3 are in arithmetic progression then x +y =
A 7 (B)
© 21 (D)
38. afe A @1 B Wb HIvT €, T
(A) sinB = sinB (B)
(C) cotA = cotB (D)
If A and B are complementary angles, then
(A) sinB = sinB (B)
(C) cotA = cotB (D)

39.cos(90° — ¢p) =

tand = tanB
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(A)  sing

(C) -—sing

40. cos?27° — sin? 63° =
(A) -1
© 1

41.5in260 = 2sin0gJ & 9 O =

(A)  60°
(C) 300

sin260 = 2sin0@ is true when 0 =

(A)  60°
(C) 30°

42 3T sinf = g d tan 6 =

(A)

©

If sinf =

WIld Ul

(A)

wWild Ul

©

43,91 tanf = = sec? @ — tan2 6 =
V7

A) 22

7

© V7

If tanf = 17 then sec? § — tan? @ =

22
(A —

©) 7

1—tan? 459

4
s thentan 6 =

N

"1+tan2450

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

cos¢

—CcosQ

Gl W

VLl oW

2v/2

2v/2
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(A) 0
<€ 2
45.3 cot? 60° =
(A)
©)

W Wik

46.c0s1° - c0s2° - cos 3°...cos180° =

A) 1
€ 0

47.2 — 2cosec?A =

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

48. IS asinx = 1 3R bcosx = 1 @1 cotx =

If asinx = 1 and bcosx = 1 then cotx =

(A) —cot?A

(C) 2cot?A

(A) 1

© =

A) 1

b

© -
49. sin® 45° 4+ cos?45° — 1 =

(A) 0

< 1

— tan2 1
50.—tan“ A4 + ke

A) 0

© -

51 (605750)2 (sinls0
"\sin15° c0s759

(A) 1

)

2

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)

g.lr—x S| Q

N |-
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< o

c0560°

52.—— x tan60° =
sin60

A) 0
©) 3
53. & cosece — cotep = y Tl cotp =

A =2

€ =

If cosecp — cotep = y then cotp =
1-y?

2y

© =

(A)

2

54.cosec30° =
(A) sin30°
(C) cosec60°
5591 2cos36 = 1716 =
(A)  10°
€) 30°

If 2cos360 = 1 then 6 =
(A) 10°
(C) 30°
56.4f% sinB = Tl cosB =
VbZ—aZ

A =

QT

©

If sinB = %then cosB =

(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)
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yb-a? B) —

w i
(©) S (D) «/z%

57.3f¢ tanA + cotA = 27 tan? A + cot? A =

A) 0 B) 1

<€ 2 (D) 4

If tanA + cotA = 2 then tan® A + cot? A =

A) 0 (B) 1

<€ 2 D) 4
58.fh9 aqguier # 9ol 3R BIfe 1 RoMHSD Bld 87

(A) T (B) fadra

©) T (D) =g

In which quadrant are both abscissa and ordinate negative?

(A) First (B) Second

(C) Third (D) Fourth
59.fa=gall A(8,0) 3R B(—6,2) & 9/ & T 2

(A) 2y/10 STl (B) 10v2 STl

(C) 10 gPT=Al (D) 16 g1l

The distance between the point A(8,0) and B(—6, 2) is

(A) 2V10 units (B) 10v2 units

(C) 10 units (D) 16 units
60.x-37eT AR y-31&T & ufcresed g & Far e 2

(A) P B) fag

(C) dHo= (D) uRa=

The point of intersection of x-axis and y-axis is said to be

(A) Centroid (B) Origin

(C) Orthocentre (D) Circumcentre
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61.fd=ga1l P(4,—5) 3R Q(8,7) &I A dTell X@T ©s & Ay-fag &
[REIGCTE
(A) (2,6) B) (6,-1)
© (61 D) (=2,-6)
The Co-ordinates of the mid-point of the line segment joining the points

P(4,—5) and Q(8,7) are

(A) (2,6) B) (6,-1)
© (61 D) (=2,-6)
62.9 fag 4 fa5 R(—x,y) & T &
(A) /x%—y? SHILAl B) x2+y? oAl
(©  (x*+y*) TTRA (D) (x +y) goTEAl
The distance of the point R(—x, y) from the origin is
(A)  /x% — y? units (B) /x%+ y? units
(C)  (x? + y?) units (D) (x+y) units
63.af¢ fag0 (1, 2), (-5, 6) TAT (a,—2) WW@ &, dTa =
A 7 (B) -7
€ o6 (D) 2
If points (1,2), (=5, 6) and (a, —2) are collinear, then a =
A 7 (B) -7
€ o6 (D) 2
64T y =7 BT el 14 H A g fog 4 B Torfi?
A (7.3) B) (7,-6)
© 67 D @1
The graph of the line y = 7 passes through which of the following point?
A (7.3) B) (7,-6)
© &7 D) ™1

Page 17 of 34



65.y-31eT ¥ fa=g P(4,6) @ 2 &

(A) 6 gdr=Rdl (B) 4 3@l
(C) 2 gHrsal (D) 10 SHEAr
The distance of the point P(4, 6) from y-axis is

(A) 6 units (B) 4 units

(C) 2 units (D) 10 units

66.147g A(a,b) 3R B(c,d) &I MA@ dTel X@RES AB &1 1: 1 & 31U
H 31 ISt &R drel favg &1 y-fFeensd &—

Ad+b Ac+a
(A) A+1 (B) A+1
Ab+d Aa+c
(C) A+1 (D) A+1

The y-Co-ordinates of a point which divide the line segment AB joining

the points A(a, b) and B(c,d) in the ratio A : 1 internally is —

Ad+b Act+a
(A) A+1 (B) A+1
Ab+d Aa+c
(C) A+1 (D) A+1

67.f75 9 & AN & RRI &1 Fdena P(8,—6) 3R Q(—8,6)%, Al gad
T BT aee 5
A (4-3) B) (=43)
© GO D) (0,0)
The Co-ordinates of the ends of diameter of a circle are P(8,—6) and
Q(—8, 6), then Co-ordinate of its centre is—
A) (4,-3) B) (=4.3)
© @D D) (0,0
68.U% Sl BT dadb (4,0) B 3R I &I oY (34) 3R (5-6) &, @I
RISNINIEES
A @4 B) (4,2)
©) (0,2) D) (2,0
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The Centroid of a triangle is (4, 0) and its two vertices are (3,4) and
(5, —6), then the third vertex is

A @24 B) “2)

©) (0,2) D) (2,0
69. farg (—2,4) farwr Tt ¥ Rerq 22

(A)  weH (B) feci

(€) i (D) =g

In which quadrant does the point (— %, 4)1ie?

(A) First (B) Second

(C) Third (D) Fourth
70.x-31&T TR |1 fIgail &1 PIfe BT § —

A) 0 B) 1

© 2 D) -1

Ordinate of all the points on x-axis is —

A) 0 (B) 1

< 2 (D) -1

71.9f¢ AABC 3R APQR 99U & T LA = 42°, /Q=841 /¢ =
(A) 48° (B) 54°
(C©) 96° (D) 42°
If AABC and APQR are similar and £A = 42° ZQ = 84° then /C =
(A) 48° (B) 54°
(©) 96° (D) 42°
7239 APQR # PR? = PQ? + QR?d1 £Q =
(A) 45° (B) 60°
(C) 75° (D) 90°
In APQR if PR? = PQ? + QR? then ZQ =
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(A) 450 (B) 600

(C) 75° (D) 90°
73.3f¢ AABC T wHarg (ST € ST AD L BC @ AD? =
(A) 2DC? (B) >DC?
(C) 4DC? (D) 3CD?
If AABC is an equilateral triangle such that AD 1 BC, then AD? =
(A) 2DC? (B) =DC?
(C) 4DC? (D) 3CD?

74. AABC ¥, &5 D iR E &¥r: iRl AB @7 AC R 39 YR ¢ &
DE || BC |4 22 =2 s AC = 18 ¥¥flo a1 AE =
(A) 8 %HIo (B) 9 o
(C) 12 FHlo (D) 4 o
In AABC, D and E are points on the sides AB and AC respectively such
that DE || BC. If% = % and AC = 18 cm. then AF =

(A) 8cm. (B) 9cm.
(C) 12cm. (D) 4cm.
75.FHgaTg FADIV S H IAdH FADIVT B AT BRI
(A) 60° (B) 90°
(C) 45° (D) 30°
In 1sosceles right triangle the measure of each acute angle will be
(A) 60° (B) 90°
(C) 45° (D) 30°
76.2) SRET Br 9 W S 7 3o 9k 10 o £, A 9T
Sl BT AT BT
(A) 49:100 (B) 100:49
(C) V10:+7 (D) V7:410
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The Corresponding heights of two similar triangles are 7 cm. and 10 cm. ,

then the ratio of their areas will be

(A) 49:100 (B) 100: 49
(C) V10:+7 (D) V7:410

77.4.5 Ao AT dTel g1 UR Wil T8 & AR el @il & 414 Bl
Ul

(A) 4.5 3o (B) 1.5 %o
(C) 9o (D) 6 HHIo
The distance between two parallel tangents drawn on a circle of radius
4.5 cm is—
(A) 4.5cm. (B) 1.5cm.
(C©) 9cm. (D) 6cm.
78.fdT ared =g 9 g7 wR fha- wel Y@ diE o |l 87
(A) (B) TP
(C) (D) A

How many tangents can be drawn to a circle from an external point?

(A) Two (B) One
(C) Three (D) Infinitely many
79.9f¢ 0 @ drel g W PA TAT PB 31 W3l Y@ 39 YR & f&

/APB = 50° @t LAOB =

(A) 50° (B) 25°
(C) 90° (D) 130°

If PA and PB are two tangents to a circle with centre O such that
ZAPB = 50° then LAOB =

(A) 500 (B) 25°

(©)
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(D) 90° (E) 130°

80.<1 TS oM #, g 0 g &1 B & T2 LAOB = 30° 8, @1 LOBA
& 9 T
(A) 300 ®
(B) 60° A
©) 750 AN
(D) 90°

B

In the given figure point O is the centre of the circle and ZAOB = 30°
then the value of ZOBA is
(A) 300
(B) 60°
(C) 75°
(D) 90°

81. 8 WHlo T a1l g1 & s W 17 WHlo R Rerd Vs fog & g W
A T el Y@ # N ' e-

(A) 15%Hlo (B) 830
(C) /353 %o (D) 250

The length of the tangent drawn from a point 17 cm away from the centre

of a circle of radius 8 cm. is —

(A) 15cm. (B) 8cm.
(C) +353cm. (D) 25cm.

82.U% O @ famol 3 o TE 5v/3 Wlo B, A1 SHGI THY U BT &%
ET—
(A) 125 JHi%o (B) 150 ¥#i%o
(C) 7530 (D) 250 ¥H%o
The length of the diagonal of a cube is 5v/3 cm., then its total surface area
will be
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(A) 125cm.? (B) 150 cm.?

(C) 75cm.? (D) 250 cm.?
83.9f¢ U da 3R g & T 3R a1 FAM &I, Al S9d SMIdHl &l
3UT BT
(A) 1:3 (B) 3:1
(C) 3:4 (D) 2:3

If the radius and height of a cylinder and a cone be equal then the ratio of

their volumes will be—

(A) 1:3 B) 3:1
(C) 3:4 D) 2:3
84 JRIET BT HASTT B—
(A) T derr e (B) 9 oI 3
(C) I 3rfef (D)  STERTT T g
A surahi is the combination of
(A) asphere and a cylinder (B) acylinder and a cone
(C) two hemispheres (D) ahemisphere and a
cylinder
85.U% S & fAc arell g3 &RT 45 fie H q9R 131 10T &
(A) 180° (B) 270°
(C) 90° (D) 135°
Angle described by minute hand of a watch in 45 minutes is
(A) 180° (B) 270°
(C) 90° (D) 135°
86.10 Ao 3T aTel 31fga & F{ot aRMAfT BRA—
(A)  (m+2)10%Ho (B) (m+ 1)10¥+Hlo
(C) 107 H#o (D) (m+5)10 o

Total perimeter of a semi-circle of radius 10 cm is —

(A) (m+2)10cm. (B) (m+1)10cm.
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(C©) 10w cm. (D) (r+5)10cm.
87. 6 WHlo A & U Tiel ERT AT gar &1 madd o—

(A) 36 °7 AHlo (B) 108 &= Ao
(C) 36 m e dHlo (D) 144 &+ JHo
The volume of air displaced by a sphere of diameter 6 cm. is
(A) 36 cubic cm. (B) 108  cubic cm.
(C) 36 mcubic cm. (D) 144 m cubic cm.
88. p 51 aret g # P17 00 B FrouEs F AT
np%o J; np%o §
(A) 360 Bl (B) 180 Bl
o P20 orf TS
©) 35 T T B) 5™
The arc of a sector of an angle 8° in the circle with radius p is
np26 . np26 .
(A) Soo Square unit (B) 5o Square unit
©) % square unit (D) 6 it
2600 54 Zeg0 Square uni

89.7f¢ fhll S1elTIel & AFUT U &1 &Fhel 462 HHIZo &I, AT S Hroam
Sl
(A) 1430 (B) 7 ¥Hlo
(C) 6 FHo (D) 3.5%Hlo

If the total surface area of a hemisphere is 462 cm.? then its radius will

be—

(A) 14 cm. (B) 7cm.

(C) 6cm. (D) 3.5cm.
90.Y% \HATg Yol BT a=hel 81\3 Iio? €, dT gweb! ol &
(A)  9v3 a0 (B) 9 w0
(C) 33 o (D) 18I0

The area of an equilateral triangle is 81v/3 cm.2, then its side is
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(A) 9V3cm. (B) 9cm.

(C) 33 cm. (D) 18cm.
91.1 Ui @I IoTel § 9T YRMHI BT F=T BRI —

(A) 216 (B) 136

(C) 128 (D) 18

In tossing of three dice the number of possible outcomes is —

(A) 216 (B) 136

(C) 128 (D) 18

92.Jf¢ BIs TeT gfed T8l 81 Jdbdl & d IAd! UTyehdr srfl

(A) 0 B) -
© 1 D) =
If an event cannot occur then its probability is —
(A) 0 B) -
1
<© 1 D)
93.U% ORI U&h dR bl STl © | AT AT AT Bl ATRIehdT 81
1 1
(A) 3 ® 3
2 1
© 3 @) 3
A dice is thrown once. The probability of getting a prime number will be
1 1
A 3 ® 3
2 1
© 3 ®) 3

94,376 UHR W B TS Teb ATl DI TS H W U U=l JIgead] Habrell
ST &, @1 39S DIl T BT IF B dl WTfehaT 28—

A = (B) —

© 4 () s
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One card is drawn at random from a well-shuffled deck of playing cards

then its probability of getting a black queen is

A = B) —
© = D) =
95.27 Rgdl &1 BT § Udb A1 MY &1 M &1 wfepar sRfl—
A) = B) =
© D) -
The probability of getting no head in tossing two coins will be —
A 2 B) 3
© - D) -
96.23,20,22,37,24,23,19,22,17,23 Dl dgeld %
(A) 23 (B) 22
© 19 (D) 37
Mode of 23,20,22,37,24,23,19,22,17,23 is
(A) 23 (B) 22
C) 19 (D) 37
97. gf¢ dfg sffdel x, x + L,x +2,x +3TqAMx + 4 BT AT 148 AT x =
(A) 10 (B) 14
€ 12 (D) 11

If the mean of the five datax, x + 1,x + 2,x + 3 and x + 4 is 14 then

X =
(A) 10 (B) 14
€ 12 (D) 11
98.Fr=feTiRad § | I ds1d UgRT B AY B 57
(A) TR (B) d9ga®
(C) A (D) wfega
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Which of the following is not a measure of central tendency?

(A) Range (B) Mode
(C) Mean (D) Median
99.712TH 8 TS AN BT ATETBT B—
(A) 13 (B) 11
<) 9 (D) 7
The median of first 8 prime numbers is
(A) 13 (B) 11
< 9 D) 7
100.  fe=afeiRaT faaror & forg
T —fRTA 0-10 10-20 20-30 30-40 40-50
TRARCAT 8 12 20 6 4
AP I BT Sd—HT 5—
(A) 20 (B) 30
(C) 25 (D) 50
For the following distribution
Class-interval | 0-10 10-20 20-30 30-40 40-50
Frequency 8 12 20 6 4
The upper limit of the modal class is-
(A) 20 (B) 30
(C) 25 (D) 50

Wue—9 / SECTION-B
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oy S<RIF 929/ Short Answer Type Questions

TR G111 W 30 Ob oY STRIg U & | 3 ¥ fbel 15 UEHl B SR |
TRE T @ oy 2 e fFuiRa 7 15%x2 =30

Question Nos. 1 to 30 are Short Answer Type Questions. Answer any 15

questions. Each question carries 2 marks. 15x2 =30
1. g & & 24/3 Ta UlRey d=r 2 | 2

Prove that 2\/§ 1s an irrational number.

2. AT 12,144 IR 240 BT THTH FHUGR AT [UAES AT A =1
N | 2
Find the Lowest Common Multiple of the numbers 12, 144 and 240 by

prime factorization.
3. YfddTs @ faMTS USTIRA BT IUANT &R, 135 3IR 225 P HS<H

AYTId<IDh ST B | 2

Using Euclid’s division algorithm, find the Highest Common Factor of
135 and 225.
4. fgara 98us 6y2 —3 — 7y @ YADI DI ST BN | 2

Find the zeroes of the quadratic polynomial 6y% — 3 — 7y.

5.9 p(x) =x%—18x + 8171 q(x) = (x —9) @ PO 1 T1a S

q(x)
B | 2
If p(x) = x* — 18x + 81 and q(x) = (x — 9) then find the degree of
q(x)

6. AT 9gUT f(x) =5x2—7x+1 & G aTAAP T a? + p2 &
1 =T B | 2
If a and B are zeros of the polynomial f(x) = 5x2 — 7x + 1. Find the
value of a? + B2.

7. FHIBROT I x — 2y = 0 T 3x + 4y — 20 = 0 DI & BN | 2
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Solve the pair of equation x — 2y = 0 and 3x + 4y — 20 = 0.

8. fgard FHieRor 3y2 — 26y +2 = 0 &1 fafdadax sma &) vd iR

& gHid 1 IAN | 2

Find the discriminant of the quadratic equation 3y? — 2v/6y + 2 = 0 and

hence find the nature of the roots.

9. fgaTd F BT STANT B FHIGRUT x2 + 7x — 60 = 0 FT 1 Fdbrel | 2
Using quadratic formula find the roots of the equation x? + 7x — 60 = 0.

10. 397 G & AT 5,11,17,23..... & DIs UG 301 B° 2
Check Whether 301 is a term of the list of numbers 5,11,17, 23, ... ?

1./ FAIGR &< &7 17 1 U8 IFS 10 d UG ¥ 14 A0S ¢ | TP
AT AT PN | 2
The 17" term of an arithmetic progression exceeds its 10™ term by 14.

Find the Common difference.

12.3°T%ol fHepTet: 7+10%+ 14 + --- + 84. 2

Find the sum: 7 + 10%+ 14 + --- + 84.

13.0 3R 50 & <1 &1 Aua GRS BT AT AT B | 2
Find the sum of the odd numbers between 0 and 50.
14. % ScotA = 3 ar 224730 ot w1 fiyapret | 2
4SinA+3cos

5 sinA—3cosA

If 5 cot A = 3 then find the value of

4SinA+3cosA’
15. R1g & & (sin* 0 — cos* @ + 1) cosec?d = 2. 2
Prove that (sin* @ — cos* 8 + 1) cosec?8 = 2.
2 0 ta2 0_ 2 0 .
16. 6 cos“ 60~ +4sin“ 30 —cot” 45 BT I[F-[ﬁ i | 9

sin2 60%+cos?2 60°
6 cos? 60%+4 sinZ 30°—cot? 45°
sin2 60%+cos2 60°

Find the value of

17. sin35% - c0s55° + c0s35°sin55° &1 A9 fAopred | 2
Find the value sin35° - cos55° + cos35%sin55°.

18.99 B & &5ha od o foraa o (4,-3),(—9, 7) 3R (8, 8) T 1 2
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Find the area of the triangle whose vertices are (4,—3), (—9,7) and
(8,8).

19.f37g311 (5,—6) 3R (—1,—4) BT SIS ATl NEEE BT x-3HeT fHd 3rgurd
T Beell 87 2
Find the ratio in which the x-axis divides the line segment joining the
points (5,—6) and (—1,—4)?

20.x &1 A4 A1d BN, e folw a5 P(x, 2) 3R Q(3,4) & 44 &1 g
8 SPIS B | 2
Find the value of x for which the distance between the points P(x,2) and
Q(3,4) is 8 units.

2114331t (8, 10) 3R (4, 6) DI MAT Tl YWES & A g I
g (2, 4) 9 =1 B | 2
Find the distance of the midpoint of the line segment joining the points
(8,10) and (4, 6) from the point (2,4).

22.3f¢ AABC, ZB = ZC 3R fd=g D @1 E B8 oisil AB @1 AC
W 39 YBR & % BD = CE 1 Rig @< & DE || BC. 2

Ifin AABC, /B = ZC and points D and E are on the sides AB and AC

respectively such that BD = CE then prove that DE || BC.
23.€1 g e # ST || QR, 3 ST = 3AHIo, QR = 6 Ao T

&o(APST) = 15 AHIe?, A APQR T &3%hal ST &N | 2
P
S - T
/ 3@"%0 \
Q > R
6 JHIo
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In the given figure ST || QR. If ST = 3 cm., QR = 6 cm. and

ar.(APST) = 15 cm? then find the area of APQR.
P

N = T
/ 3 cm.. \
Q > R

6 cm.

24Pl 917 B P @ 13 Tflo B T W el fig P & i TE
T Pl THTg 12 Ao § | g Bl Broar @ | 2

The length of a tangent drawn from a point P which is at a distance 13

cm. from the centre of a circle, is 12 cm. Find the radius of the circle.

25. ol 7 & 3T IR SR FH 2 Slig 7 W I8 5 & I¥&N 81 W[l ©
AR IS THD FU IR N AN 1 gl < dl 98 7 P S¥I6N & ST 2
9 Bl & forg FHIdRor ford 2

If 2 is added to the numerator and denominator of a fraction it becomes to

5 and if 1 is subtracted from its numerator and denominator it becomes 7.

Write the equations for these statements.

26.F=faRaa g &1 AT ST B 2
T —3feRTe 0-10 10-20 20-30 30-40 40-50
IR 8 15 12 16 9

Find the mean of the following distribution:

Class-interval | 0-10 10-20 20-30 30-40 40-50
Frequency 8 15 12 16 9
27.31& 14 Ao AT 916l 9 BT Yo =19 B WX 1200 BT HIT AR
IRAT 8, Al A B TS AT BN | 2

If the arc of a circle of radius 14 cm. subtends 120° at the centre then

find the length of the arc.
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28.71 fodll SIag<i da9 @1 SaTs S SMUR B a1 & AT & Ua
IS dh S BT &Fhel 616 THIo? &, Al SHD IIMER Bl AT fFepred |2

If the height of a right circular cylinder is twice the radius of its base and
its curved surface area is 616 cm?, find the radius of its base.

29.9f¢ 1 Riaepl B T 1T IBTAT STl & dl il IR Ueb &1 UiRomA
3T BT IIRAHAT S BN | 2
If three coins are tossed simultaneously then find the probability of

getting the same outcome in all three coins.

30.3f¢ ST UTEl BT T AT Hebd UR ST UR I dTl bl BT AR 3 7
&1 ulRipar Aot | 2

If two dice are thrown simultaneously, find the probability that the

difference between the numbers on both the dice is 3.

<Y ST U / Long Answer Type Questions
Ue H&AT 31 ¥ 38 A1H STNIY W B | 599 9 R 4 el B SR T |
% weood @ forg 5 3w uiRa & 4x5=20

Question Nos. 31 to 38 are Long Answer Type Questions. Answer any 4 questions.

Each question carries 5 marks. 4x5=20

31. UTHr Ay | XRgd FaERT W x —y+1=0dAM2x + 3y —12 =0
BT & PN | 5
Using graphical method, solve the pair of linear equations
x—y+1=0and2x+3y—12 =0.

32. U% IMAAHR Wd BT fAHo I BIS Yol § 6011 31fdrd ofdT 2|
IS 91 oIl BIET YOIl I 30¥IeR Af&d 81, I WA &I Yol A1 | 5

The diagonal of a rectangular field is 60 metres more than the shorter side.

If the longer side is 30 metres more than the shorter side, find the sides of

the field.
33.R9g WX b U AHDI0T St § H0 &1 a1 3= Q1 Yol b N D
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ARThel & S_TER Bl & | 5

Prove that in a right triangle, the square of the hypotenuse is equal to the

sum of the squares of the other two sides.

34.9% Bryst PQR 99¢ Ras QR = 8 9o | £Q = 45°, /P = 105° g,
f APQR & |¥™U Udh Sl &1 AT X 579! o APQR @1
AT Tt I g T 8l | 5
Draw a triangle PQR in which QR = 8 cm. ZQ = 45° /p = 105°.
Then construct a triangle similar to APQR. Whose sides are g times

the corresponding sides of APQR.

35.0% Afdd, Sif 4l & Udh IR OR Tl § 74l & g IR oR Rerd

U U P RBRIR BT I~ BT 60° Urdr 2 | Sid g8 Afdd fhIR I 36
Hex N g SaT 8, d 98 I~ HIor 300 &7 &1 Sl 2 | Us Bl
SIS IAT AT B dIels Sd P | 5

A person standing on the bank of a river observes that the angle of
elevation of the top of a tree standing on the opposite bank is 60°. When
he moves 36 metres away from the bank, he finds the angle of elevation to

be 30°. Find the height of the tree and the width of the river.

36.Rrg #N b 5
cosecA cosecA — 2sec? A.
(cosecA—1) = (cosecA+1)
Prove that
cosecA N cosecA —5 2 4
(cosecA—1)  (cosecA+1) Sect A
37. =feRad effes BT ATRI®T ST B 5
T 70% 60% 50% 40% 30% 20%
JIASH | AIASE | H s | W fE | W afE | W R
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IEIRSECI 7 18 40 42 53 60

Find the median of the following data

Marks More | More than More More than | More than More
obtained than 60% than 40% 30% than 20%
70% 50%
No. of 7 18 40 42 53 60
Students

38.U% o9 I g B AR DI AT 3R 3418 HAM: 5 Alex TAT 12 HIex
2| SN g BT AITH Td Gl YOI &FABel S D | 5

The base radius and height of a right circular cone are 5 meter and 12 meters

respectively. Find its volume and total surface area.
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